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[—2.6,—1.4] (5.24 £0.105 £ 0.272) x10~> (4.365 £ 0.09 £+ 0.408) <10

[—1.4,—0.9] 0.193 + 0.002 = 0.009 (1.61 + 0.019 + 0.137) x102
[—0.9, —0.4] 0.321 4 0.003 + 0.007 (2.675 + 0.028 + 0.202) x10?
[—0.4, 0] 0.436 + 0.004 + 0.014 (3.63 = 0.037 =+ 0.246) x 10>
[0,0.4] 0.443 + 0.004 =+ 0.012 (3.693 =+ 0.038 + 0.241) x10?
0.4,0.9] 0.325 + 0.003 =+ 0.013 (2.71 + 0.029 + 0.217) x10?
(0.9,1.4] 0.199 + 0.002 =+ 0.006 (1.661 & 0.019 + 0.134) x10?

[1.4,2.6] (5.489 4- 0.103 4 0.422) x1072  (4.572 4 0.088 4 0.47) x10



